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Pyccknit andaBur

1-A  7-E  13-J |19-C 25-9 31-D
2-b - |14 -M 20-T [26-111 32-1HO
3-B 9-3 15- H [21-Y  27-1 33-41
4-1 10-NM 16-0 [22-D 28-b
s- 1 11-M j17-11 [23-X |29-bl
6-E 12-K (18-P 24-11 [30-b
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[lepumeTp
NPAMOYrofibHUKa.

IlepuMeTp- 3TO CymMMa JUTMH BCEX CTOPOH.




5 cm

2 CM




P —

a+TBTa-
—_ I B
P = a<2+B-2

P

(a

B)e2



4+3+4+3=14(cm)
4-2+3 -2=14(cm)
(4+3)-2=14(cm)

P
P
P



JlomailiHee 3agaHue.

1. Hangure nepuMeTp OJHOM U3 CBOUX
KOMHAT B JOME M 3aITUIINTE PEILICHUE
Pa3HBIMH CIOCOOAMHM.

2. Ctp. 52 Ne 2



